


[image: image1]
X data
Y data
Z data

X1
Y1
Z1

X2
Y1
Z2

X3
Y1
Z3

X1
Y2
Z4

X2
Y2
Z5

X3
Y2
Z8

X1
Y3
Z7

X2
Y3
Z8

X3
Y3
Z9

X1
Y4
Z10

X2
Y4
Z11

X3
Y4
Z12
Xgrid

ygrid

hypotenuse
angle
-9.0000
-4.0000
16.9706
-0.7854

-8.0000
-4.0000
18.4391
-0.7086

-7.0000
-4.0000
20.0000
-0.6435

-6.0000
-4.0000
24.0832
-0.7266

-5.0000
-4.0000
25.4558
-0.7854

-4.0000
-4.0000
26.9072
-0.7328

-3.0000
-4.0000
21.6333
-0.9828

-2.0000
-4.0000
51.2250
-0.8961

-1.0000
-4.0000
70.7672
-0.8254

0.0000

-4.0000
69.4262
-0.2030

1.0000

-4.0000
103.7111
0.6898

2.0000

-4.0000
116.0000
0.7610

3.0000

-4.0000
121.6553
0.7621

4.0000

-4.0000
121.6553
0.7621

5.0000

-4.0000
124.4508
0.7854

6.0000

-4.0000
128.7012
0.7744

7.0000

-4.0000
130.1076
0.7854

8.0000

-4.0000
130.1076
0.7854

9.0000

-4.0000
130.1076
0.7854

-9.0000
-3.0000
18.4391
-0.8622

-8.0000
-3.0000
16.9706
-0.7854

-7.0000
-3.0000
22.6274
-0.7854

-6.0000
-3.0000
24.0832
-0.7266

-5.0000
-3.0000
29.7321
-0.7378

-4.0000
-3.0000
29.7321
-0.8330

-3.0000
-3.0000
27.7849
-0.5281

-2.0000
-3.0000
39.4462
-1.0391


6 contour plots required

A) Plot z values (hypotenuse) at each of the grid points
B) Plot angle at each of the grid points

For 
1) Fish no object

2) Fish conductive object

3) Fish non-conductive object

First get all x and y values  
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